Energy and Work

~—Energy—-The-ability-to-do._NorK (orcausea

 —ehange). Measured-in Jowlc s (). -Wherworkis
done, energy is transformed or 4y nn<leried.
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MaoveS i the same direction as the force.

Measured in_Joule s (J)

“Work
- in orderto do work
~fy-applied force must make object (Y OV &
—2) movementmust bein the-same divec hinyas the
applied force C " "
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Equation: ‘ _
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« 1Y You pusha refrigerator with aforce of T00N_1fthe
""" displacemernit of the refrigerator is 5m, how much work did

you do? e 4
W= I00N:&m = 500 Jowles CJ)

“Work Practice
«—2) Aforce of 75N is exerted on a45-kg couch andthe
couch'is moved 5m. How much work is done in moving
the couch?

W= 15 NiEM= 3157
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—Different Tvpesnf Energy

+ Thermal Energy:= Ncat-
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« 2) Chemical Energy: —
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S Qédiant Energy: Ligh ﬂm‘t/
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* 5) Nuclear Energy:
Jomb

-Kinetic-Energy
o Energy of MOHDOY
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downhill, Ca.y’  mowing, bird _- \¥"”EJ
« Kinetic Energy (KE) = mv“/2
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—Gravitationalt-Potential-Energy
~ The energy an objectis ableto _SIDP®, because of its
QOC)H’IDKI or condition

«~Examples: STYetch in¢ofa rubberband; basebatlin a

glove, slinky nucmd down, book on a shelf
Q%mb

« P.E.=mgh \ass - 6{[%[]-’7

* T = mass, g =dacceleration rate due to gravity (9.8 m/s? )
h= he_ght
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~Football Player ~QB’s armis oldin 4 the footbait

“ready to throw (P-E.), he \¥ | a5 Sand-the ball flies
through the air (K.E.)

«~Apple < An appte NONAin ¢ from atreehas(P.E.) and
then falls to the ground (K.E-)

s Waterfall— At the top of the Woderuilithere is TPE:), and
| as the water spills over and starts to j}_; | | it has (K.E.)
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Calculations
~tyWhatisthe K.E. of a 45kg bike moving at
13m/sec? “06’ He xib 0\ ?{“b
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